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7 Electron Densities of the Elements
Belonging to P-Orbits and Reactivity
of the Molecules Contain these Elements

Fifteenth Report

Kosaku ASADA

On the Allkyl-Vinyl, Vinyl-Ether, Since Some amounts of z Electrons are dispersed to all
Atoms (That is understood for Interatomic distances from “Tables of Interatomic distances in
Molecules” Published by London Chemical Society) The Indexes fr, zrr, Fr of all Atoms are
Calculated by LCAO-MO-Method.

The Predicton about the Kinds of Reactions Induced by these Indexes Conform to Practical

Reactions of Chemical Literatures.

(A) 7L RH +0 +0 +0 —=0.1 —0.5

e C CH: C H,
FHBAEDITH CIBRCENT=F v v _C= 1 1 0.7 2.5
C ~ofl At By CHME DR 2 C=C = G C G G C
DBHEDOEAL, B LIICE U CRIGEDEER & OB 1 Ar Az A3 A4 As
o THIBICE 2 CTERMBRISH & TR D B < —8T 5 2.3555  1.3568 —0.0190 —1.3935 —2.8998
FIBRWCTHRE Lic, AR TRSFORFREE Y C Cn Ciz Cia(ho) Cu(lv) Cis
B2 ofiin b r BFALREFROBL 5 EELTE —0.0599 —0.5119  0.6931 —0.5033 —0.0255
D BEFROEFEED % Hickel &, BIbBMLC- C, Ca Ca Cas Coy Cys
AO—MO #* 10X > THERISIEH fr, Sry v, Fr, —0.1410 —0.6946 —0.0131  0.7014  0.0740
L %7 E LA SBLE=FALF-—EDFEAE»H C, Cs Cs, Cas Caq Css
EOIRP B RIGO TR & EHH L OBLICE TRE —0.2723  —0.4305 —0.6928 —0.4741 —0.1892
AR D, c, Ca Cy Cus Cus Css
(A) 7 A% LS LEY —0.7147  0.1578  0.0376 —0.0582  0.6778
(1] CH,~CH—CH.—CH; 3—7Fvv (1% C. Ca Csz Css Css Css
BB) —0.6258  0.2125  0.1952  0.1629 —0.7061
TR BT, FEHRET (he) BLED Cy, Co D BFEED HEE

| 1.35 1.47 1.52
C e el

CH CH2 CHs (BE=UT 22 7 EFRPOREFOAGEN(Cr)? 5t
| 1.54) 1.54) )

2 (Crn®)? .
—CH; 3B#%E L L TRA K S DBBE T TR Z(C%] N1IR3 Uk EWSFCIERRBRIES
LD EENCHETIENERB LEZDN, They THNVARIGEDTTREE FRE DD, CO5FTlRrE
ROPITRT, DHHEFBD TNEL Fo» VvHRICEEE TR A

RT A=A —BROMBETHE B,
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R EFED (holiE) Of 1'P=2(Ci13)2=0.9608
F1M=2(C14)?=0.5062
Eieh, oM B IERETFOREENTFEINDH A
LR _Est DT A—2—TEHETHEREL

85,
+0 40 401 +3
CH CH CH, CH;
1 1 1
Ci Ce Cs Cs
A P s s
3.3431  1.3142 —0.1101 —1.4472
c Cn Ciz(ho) Cis(Ilv) Cus
0.0317  0.5390  0.6919  0.4793
C21 C22 C23 C24
C 01060  0.7084 —0.0762 —0.6937
Ca Cs2 Css Cas
C 035 03919 —0.6835  0.5246
C41 C42 C43 C44
G 09401 —0.2325 02198 —0.1180
ZDENIL [1'P=2(C12)%=0.5810

F1NM=2(C13)%2=0.9575
Lieh, Ci 3R RGN T BE IO ERM &
EHRTIEYT —CH; 3BHEBEOBE V- HLETH
5HEHERLT V5,
o CZDHFIIIHIE (74 —42—% —C=H;
BERA) KX 5T fr, Iy 51E (S, Fr, Ly 333
& TrET )

frix 1B =2(C13)2=0.9608
‘ ° } Ci KETFH
1N =2(C1)2=0.5066
F2®=0.0003
’ } Co KHAHO
F2™M=0.9839
F5®'=0.9599
’ } Co REFH
Fs™N=0.4495
Fa®'=10.0028
) } Ca K289
Fa™'=0.0068
Fs®=0.0762
’ CoREFH
Fs™M=0.0531
I, vk
_ Ci?xC? | Cii®xCis® | Cii2XxCi?
H11_4/B< Al_/h + /11—/15 /12-&4

+C122><C152 +C132XC142 +C132XC152>
A2 —As As— A4 A3 —As
=0.4516/8
II,,=0.3585/ B
II33=0.4242/
M.,=0.1816/ 5
II5:=10.2120/ B

¥ T > Tl > 1oy > ss > Ilia & 720 A F v B RIGHE
3 Cy DRENETT S EFHEEINS,

RSO EEF GBS 2 8 (1) THEIRT
WA D Cr DRBEFHIRIGHE, C: OREMIRIGHIZE <
—H LTV HEFELEDOLN S,

(2] CH,=CH—CH>—CH>—CHj3

R RE L,

134 147 152 1.53 _
N o s s

T ETFOBENIHER D o,

RS A =B —RDIETEE,

+0 +0 +0 +0.1 —0.1 —0.5

1—=vFv

—C===C—CH;——CH: C=H;
1 11 1 0.7 2.5
Ci G Cs Cs G5 GCs
A1 Az A3 A4 As A6

2.3574 1.5763 0.5839 —0.6148 —1.6028 —2.9000
Ci Ciz Cis Cis Cis Cie
0.0328 ~0.3873 —0.5948 -0.5935 0.3778 0.0102
C2 CZI CZZ C23 C24 C25 CZG
0.0772 -0.6105 —0.3473 0.3649 ~0.6055 —0.0276
C31 C32 C33 C34 C35 C36
0.1493 -0.5750 0.3920 0.3692 0.5927 0.0756
C4 C41 C42 C43 C44 C45 c46
0.2748 -0.2959 0.5762 —-0.5918 —0.3445 —0.1896
C5 C51 C52 C53 CS4 C55 C56
0.7121 0.1553 -0.0794 —0.0768 —-0.0579 0.6776
CGI C62 CGS CG4 C65 Ces
° 0.6230 0.1869 —0.1830 0.1673 0.1313 ~0.7058
FEETC, COrETFEEDCHHEIRY) KE
(B9
o TN NVHIRIGHETTREE TIN5,
B S, Ty, FATBTo Sy, Ly 3BT,

Cy

Cs

fr ik £1®=2(C15)?=0.7076

F1N'=2(C14)2=0.7045 } Ci REFH
B)=(.2412

Z‘m:o.zeea } Ce AREAEY

f5®=0.3073

fs™N =0.2726 } Cs RBFHY

f4B=0.6640

£4™'=0.7005 } Co RHAHD

fs®=0.0126

fs™'=0.0118 } G REFH

F6®'=10.0670

fe™N =0.0560 } Co KRBT

i# Cs, Co D7 BFHBEIBRD TNE S KIGHEHFF
EERL T3,
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_ Ci2xCy?2 | Ci2xCys? C112Xx Cig®
=/ =52 X

+ CIZZXCMZ + C122><C152 Clgzxclez
Az*/h /12—/{5 AZ_AG

O e )
=0.6320/8
o, = 0.3068/8
I33=10.4120/8
M= 0.5924/8
Mss=0.1964/8
s =0.2104/8
R, >y >3s> 10> 16> lss &7aH A4~
BB G C, DALENET T3 EFEEIN 5,

Fr 13 F1=v3 —P1,=0.8411
P12=2(C11Ca1+ C12C22+ C13C23) =0.8910=Pa
Fy=+v3 — (P21 +P23) =0.3883
P23=0.4528=P3;
P3s=0.8739=Pu3
Fa=y3 —(Ps2+Pss) =0.4054
Pis=0.2078=Ps4
Ps¢=0.9797 =Pss
Fa=+3 —(Pus+Pus) =0.6504
Fs=v3 —(Pss+Pss) =0.5446
Fe=+3 —Pes=0.7524
ER F1>Fe>Fi>Fs>F3 >Fy &7 7 20 VIR
G Cl DB ETT 2L FHEEIN D,
CORFIE S OESSSEBEIT F,E & N OfES
BR LTV AHEGERE TV F CREER A 4 vE)
RIGH 38 WEAEE SRS, X7 o NEARIED
B THERRIGHEDE WS FTHHEELRL TV %,
RIGOEwHIHETF D EY

1) FALKELRIERA S L2 — Kb~V 2 v 2,
H I

] | |
(|:=C—CH2*CH2—CH3 + H'I" > CH.—CH—

—CH,—CH.—CHs

CORIGE Cr ORBEFHRIGHC X v HY 0BRIRH
KT Licb D& RTENHES,
2) KMnOs TEL S h ¥, =78, ROEEBY &
Ao
(a) CH,=CH—CH:—CH.—CHs + 60 —

CH:—CH:
/O | |
H—C7 + 0=C C=0
~OH | |
OH OH
g A ]

(b CH,—CH—CH,—CH.—CHs + 40 —
%O 40
H—C + CH,—CH;—CH,—C
“OH ~OH
(b)FIZT oA ALBRIGIZ L D Co A0 #®INL, [
FRC B AT SN ARGV ET LI DEE XD
ns,
(3] CH,=CH—CH>,—CH,—CH:—CH3 11—~
Fy,
R B 1
1.34 1.47 1.52  (1.53) 1.53
CH: H CH CHs
(1.54) (1.54) (1.54) (1.54)
RT A= B =T ROBETHHE,

+0 +0 +0 +0 +0 —0.1 -0.5
CH; =—CH —CH: —CH: —CH; — C =H;

CH

1 1 1 1 0.7 2.5
C Ca Cs on Cs Ces Cr
A1 Az Az A4
A 2.3580 1.7021 0.9640 —0.0128
c, Cu Crz Cis Cia(ho)
0.0181 —0.3038 0.4992 0.5696
C, Car Coz Cas Caa
0.0426 —0.5171 0.4812 —0.0730
c, Cai Csz Css (O
0.0824 —0.5763 —0.0353 —0.5695
C, Cu Caz Cas Cas
0.1518 —0.4639 —0.5152 0.0146
c, Cs, Css Css Css
0.2754 —0.2133 —0.4613 0.5693
C, Ce1 Ce2 Ces (O
0.7109 0.1441 0.1008 —0.0313
c, Cn Cro Crs Cu
0.6219 0.1636 0.1721 —0.1605
As As Az
A —0.9898 —1.7214 —2.9001
c, Cis(Iv) Cis Ciz
—0.4969 0.2946 0.0408
c, Cys Cas Cyr
0.4917 —0.5071 —0.0118
c Css Css Caz
0.0100 0.5783 0.0302
Css Cus Cyz

—0.5018 —0.4884 —0.0758
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C C55 C56 C57
®0.4867  0.2623  0.1897
Ces Ces Cer
Cs
0.0287  0.0525 —0.6776
Crs Cre Crr

—0.1465 —0.1075 0.7058
FHEZET (ho) BLED Ci, C: D1 BFEHEEOHHE
RS THE VY,
o To7 o VIORIGHZRE - FHRIN S,
SR S, e 2gtvC, Sy, Ly, Fr (385,

fr 43 f1®1=2(C14) *=0.6489
F1%=2(Ci5)?=0.4838 } G RETH
(E) —
o ) C
©) = (.6487
f‘z‘”’zo‘oooz} Co REFH
F4'®=0.0004
f4‘”’=0.5036} Co kiR
F5®=0.6482
fs(N’=0.4738} Cs KETH)
f6'®=0.0020] C¢ RETFHY
fe‘”)=0‘0016} FIGHERR o T 550
F7®=0.0515] C; REFW
f7‘"’=0.0429} RIS o T EgL
1T 13,

_ Ci2xCis? | Ci®xCie? | Ci?xCi?
Mma=4/8( s VA T A

Ci22x Cis? | Cia®xCis® | Ci®xCy?
/12—/15 /12—/16 AZ_/I7

+

+ Cis®xCis? | Cig® X Cye? + Cia?x Cy7?
ds—ds | As—2e As— Az

2 2 2 2 2 2
R )
=0.5964/8

I, =KW L T0.3896/8
IT33=0.3872/8
I44=0.3876/8
Iss=10.5660/8
Mes=0.1920/8
7 =10.2080/8
$ER IIn > ss > [hy=Iy =T33 > 77 >1es &72h A
FVRIRIGHEL C) OBE»ETT 5 & TFHEINS,
CODFIIBENREERE LY S 7 o h VIR RIGH R
B HEAMIEE L FRINLETH 5,
RIGDExAEEFD LY
IH VYIRS E LT8R MBS R ER S 2 & 771

AF =N AN = NENFINALT VIR ER,
2 (CHe=CH—CH:—CH:—CH,—CHs + HSOs;O0H +
OH

H:0 — éHz—(‘:H*CHz—CHz“CHz‘CHa +

CHz CH—CH>:—CH,—CH>—CHs

I—|1503 |OH

ZORIGEME Cr OREFHRIGHKHICL 5 HY | O
H*SO3 DRIN & Co DRBMIRICHE X 5 (OH)™ © B
NERBMTEIEEK D,

UEotic=5 v vEIZT L A OMIN 3 IG5
CRIGE=F v v EXBHEMCT R 4 VRIS
ZIEESHTH D,

Cl
(4) CszC':CH b4y Fe=rTme

3

VY OFEERCE TRE T 5,
R FRABE BT

1.34 Cl
CHz C(1.76) 1.47

——F—CH3
(1.54)
RFA—2 - ROETEE,
+0 o8 L8
=c c ¢
C =Hj;
1 1 2.5
0.4

C Ce Cs (o Cs

/11 /12 /13 /14 /15

2.3876 1.8826 0.9279 —0.9248 —2.8933
c Cu Ciz Cia(ho) Cra(Iv) Cis
' 0.1335 —0.1018 0.6750 —0.7159 0.0610
c Cy Cao Cas Cas Css
’ 0.3186 —0.1916 0.6263 0.6621 —0.1765
c Ca Csz Cas Cas Css
: 0.2186 —0.9278 —0.2873 —0.0972 0.0150
c Ca Ca2 Cais Caa Cas
! 0.6903 0.2094 —0.1309 0.0334 0.6793

Cs Csz Css GCsa Css

0.5976  0.2198 —0.2292 —0.1964 —0.7096
FHET (ho) BLEDCy, C: D7 ETFHEEDOH#K
RIIKE, o TF o APRISH LA E FHEE R
%,
FHEX f, Iy, Fr BT, Sy, Ly (383,

frix /1®=2(C13)2=0.9113 }

C, k&m
F1N=2(Cra)2=1.0250 b
F2®=10.7845 }

C, REMW
£2™N=0.8768 2=
F3®'=0.1651 o RETH
F2™=0.0189 R
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Se=0.0348 } Co REFH
fsN=10.0022
Fs®=10.1051 .
£sN=0.0771 Co REFH
Iy 13,
O e e T P T

R R )
=0.5244/p
I, =0.1758/ 4
II;3=0.0142/8
C I1,=10.3972/8
ITss=0.2084/ 8
KRB, Thy>1lu>Ilss> 5> a3 L 78D A 4 v BIRUG
PR C DRENETTHETEIND,
Fr L F1=/3 —P1o=1.1854
P12=2(C11C21+C12C22) +C13C23=0.5467=Pz
F2=+v3 —(Pa1+Pas+P2) =0.5880
P23=0.3198=P32
P24=0.2776=P42
Fs=v3 —Ps2=1.4123
P4s=0.9470=Ps4
Fs=+3 —(Ps2+Pus)=0.5075
F5=0.7851
%~ T, Fs>Fi1>Fs>Fo>Fy s h 7 2 7 ARIGHE
% Cs DELEMETT 5 L TFHENS,
FISOERGIZEFH L)

1) C:HsONa 2 (ERE ¥ 3 L7 V) Vv v &4,

Cl
|
CH.=C—CHs + NaOC.Hs - CH=C—CHs

+ NaCl + C:HsOH
CORIGIE Ci ORBHRIGH I X ) HY 2R L,
C:HsONa ® Na* & H* »"EH L 5% L Nat 2°Cs ©
KREFRRIGHIC L W IR S NaCl & LTHBEL b

D ERME D,
2) KEBTHLEIMKGRELT € b v EER,
Cl H 0

| | [
CH>=C—CHs + H.0 - CH.—C—CHs + HCI

CORGECs D5 oa A IRIGHIC X b He % T X
DL RRFIC Co N He BBRIRE e & Rie 5,

3) BEAEREE5 L1, 2 R E £,

Cl Br Br
| | | A
CH:=C—CH;3 + 2Br — CH,—C—CHj;

ZDORIEECl, Co DREMRIGHIC X % Brm 0B
L RiTEIER S,

4) 0" OREFTTCl 2 fFR w5 LMmMRIET2, 3

7T e RER
o cr—¢
|
CH»=C—CHs + Cl — CH,=C—CH;s

H H

Cl
- CHa—é—CHzCI
ZDORIGHE Cs ~ CLy 5 & » AR Cy ~F B,
5) HI#{Ff &€ 5% & CHsCCUCHs %4 (RBE3),
CORIGS CIt ] DF S HABEFTRINC, ~ B
By R,
Cl
(5) (IZH=CH—CH3 b7 r =
[T R B 0,

1.69

o (CH NS R -
sy
T A= B = ROETHE,
+0.18  +1.8
B M L
~ 1 0.7 2.5
Ci C: Cs Ca Cs
LA X s A s
2.3563  1.9163  0.9277 —0.9228 —2.8976
c, Cu Ciz Cis(ho) Cis(lv) Cis
0.1443 —0.2735 —0.6695 —0.6727 —0.0608
. Cay Cas Cas Cas Css
0.1038 —0.9408  0.3070  0.0988  0.0517
, Car Csz Css Cas Css
0.2726 —0.0985  0.6234  0.7023  0.1850
., Cas Cuz Cus Cus Cus
0.7115  0.1209  0.1303  0.0352 —0.6227
CSI C52 C53 C54 CSS

? 0.6227 0.1251 0.2281 —0.2082 0.7079

IR T (hy) BED Ci, Cs D 7 BETHBEOHEER
AR D K& U,

FoTT7 oA NMHRIEHETTRE L TR SR 5,

FHEE fr, Ty, FATET, S, L 38,

fr X /1B =2(C13)%2=0.8965 }
Ci k&
AN =2(C14)?=0.9051 1 R
F£2® =0.1885 _
£™=0.0195 } Co RETH)
B =0.7773
£3™ = 0.9865 Co RiHY
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F4®=10.0340
Cs REFH
£4N=10.0025
fs® =0.1041 -
o _ Cs KEFH
fs 0.0867
I 1,
C11 XCM CHZXClsz ClZZXCMZ
H“‘4/3< =24 Ai—7s Az—A4
+ Ci2?xCis2 | Cig2xCis® | Cia? X Cys? )
A2 —2s A=A Ada—7s
=0.4994/4

112 =10.0164/8
II35=0.4823/8
M, =0.3219/8
IIs55=10.1837/8
8B >33 >y >Mss > 1T L0 h) A4 A YHIRIG
X C ORBIETTHETFHEIN S,
Fr (¥ F1=y3 —(P12+P13) =0.8433
P12=2(C11C21+C12C22) +C13C25=0.3391=P2,
Fo=v3 —P21=1.3930
P13=0.5497="P3
P3¢=0.2830=P43
Fs=y3 — (P31 +Pss) =0.8994
Fs=v3 —(Ps3+Pss) =0.5030
Fs=+/3 —P5s=0.7860
¥R, Fo>Fs>Fi1>Fs>Fy L7ah 527 VIR IGH
12 Co DALENETT 5 L FREND, RIEDERGI%
EiFp el
1) Br2fEER®B L] 207 rarsm v EER,
(2 DRIE 3 1T
Br
CHCI=CH—CH; + 2Br — éHCl—éH—CHa
ZDORIGE C1, Cs ORBEMEIEHIZ X b Brm ORI
LRiE s,
2) HBr #fEFA & ¥ %5 &1,1Br—Cl 7 = < v 4R,
Br H
CHCI=CH—CH; + HBr — éHCl—éH~CH3
Z DRIGE Cr ORBEMRIGHIZ X 5 Brm O R INH%E
TFLib o & BT,
3) CoHsOK & #12130~140C et 5 L7V v v &
AR,
CHCI=CH—CH; + C.HsOK — CH=C—CHjs
+ C.HsOH + KCI
CORIEGE Co D7 oA ARG X b Ko % B IR
KCl %58t L\~ C Cs ORBEMRIGHIC L b HY &K
HLRIS E RigTE Rk 5,
4) ZOFFIEEAFEREMED Cis, TransEbH D,

CI—C—H Cl—C—H
Cis®! I Trans®! I
CHs—C—H H—C—CHs
mp—32.8°C bp 134°C  mp 37.4C  bp 99°C

BEAE LT CisToTrEREEbh S,

C|:H3
(63 CH==CH—CHs 2—75 v,
R FRAEE R,
1.48
———<CHs 1.34 1.48
CHA.54) CH CHs
(1.54)
5 A =8 = ROETEHHE,
+0 —0.1 —0.5
CH07 “ 25 O -0l 05
1 0. 2.5
Ci Cz Cs Ca Cs Cs
A1 Az As A4 As As

2.4026 2.2896 0.8645 -0.9613 -2.8671 -2.9281
c, Cu Ciz Cistho) Cus(lv) Cis Cie
-0.2501 0.1107 -0.6556 0.6765 0.0873 0.1734
c, Ca Caz Cas Cas Cos Cas
-0.5011 0.5201 0.1269 0.0373 —0.4824 -0.4776
c, Ca1 Caz Cas Cas Css Css
-0.4316 0.4661 0.2325-0.2023 0.5095 0.4918
c, Ca Caz Cas Caa Cus Cas
—-0.2501 0.1107 -0.6556 -0.6765 0.0873 —-0.1734
C, Cs, Css Css GCss Css Css
—-0.5011 -0.5201 0.1269 -0.0373 —0.4824 0.4776
Ce Cer Cez Ces Ces Ces Ces
-0.4316 -0.4661 0.2325 0.2023 0.5095 —0.4918
BBEE 2 2%FD C1—Cs & Co—Col¥dR &7z o T
%o
(ho) BLE®D Ci, Ca @ 7 BFHE O5HEIL 100 %,
Wo T oD VIIRIGH R WEXTEI NS,
B S, o, FrggivT, S, Ly 30g3,

Frixk /1 =2(C13)2=0.8596 }
Ci REH
FiN=2(C14)%2=0.9153 ! =
f B =(.0322
Co KETH
£2™M'=0.0028
£3®=10.1081
G KEFH
£s™M=0.0819
f4(E)=fl(E) f4(N):f1(N)
fS(E):fZ(E) fs(N) :fZ(N)
fe(E)zfa(E) fS(N):fﬁ(N)
Hrr bi,
_ Ci?xCi? | Cii2xCis? | C112xCy6?
H“_‘W( T P N N Sy N
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LG xCi? | C?xCis? | Cip? X Ci®

" Aa—A A2 —2s A2 — A6

4 Cis? x Cys? + Cig?xCis? | Cig?xCi6® )
As— A As—As | As—4s

=0.4912/8

1T, =0.1920/8
IT33=10.2484/8
Il = Iy
IIss = Il
IIss = II33
$ER I=1Iaa> ss=1Tee > lp=1Is5 £ T2 9 A + V1Y
RIGHEE Cy, Co DRIBENETT5 LTRSS,
Fr (¥ Fi=v3 —(P12+P1s) =0.5233
P12=2(C11C21+ C12C22+ C13C23) =0.1994 =P,
F2=43 —(P21+P23) =0.5563
P14=1.0094=P4
P23=0.9764=Ps3,
Fs=v3 —P32=0.7557
Pis=Pss=P12
Pse=Pes=P2s3
Fs=+v3 —(Ps+Puss) =F
Fs=v3 —(Pss+Pse) =F:
Fe=+v3 —Pss=F3
#B Fs=F¢>F2=Fs>F\=F; &7t h 72 » MIRIE
X Ca=Ce DIENETT 2L THIN D,

RIGDEwEHI 2T 5 &1
1) VB v RMLT =4 vEAR,
(%Ha CIHa III
OH=i}¥—CH3+»H—+hPO4—>H“-CH———$* ~~~~~~
(G H CHs

""" H,PO; — H+CH——C

(BLhr) |

CHs | n

Z DG Co DRBEMRIEHE I X b 7 =7 v (HoPOy)
PRV ETLEEATIORIGEES CELET S &
Ehh b,

2) Cl¥fER&R®B L2, 202017 2 vk,

Cle ?Ha (flz
CH=CHCHs + Cls > CH—C—CHs
H<«—H

ZDORIEE Cy ORBEMRICHIZ X b ClI- IR E HY
DB AEFT LI RIE & BRI HEL S,
3) Tiegler ipiEIc X WL 7 =+ v ESR

(“THa
CH=CHCHs + TiCls—AIEfs —

il
TimCH——C e EfsAl
CH. @)

CORINEL) ©) VvEEDBE LR L,
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Ci Ce Cs Cs Cs Cs
A Az As Aq As A
2.4784 2.2169 0.9732 -0.0162 —0.9680 —2.8842
c, Cn Ciz Custho) Cu(ly) Cis Cis
-0.0876 —0.1044 —0.6739 -0.1629 0.7076 —0.0152
C2 C21 CZZ C23 C24 C25 CZG
-0.2171 -0.2315 -0.6558 0.0264 —0.6850 0.0439
Ca C31 C32 C33 C34 c35 C36
-0.6784 —0.6043 0.2781 0.2706 0.1539 -0.0200
C4 C41 C42 C43 C44 C45 C46
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P3,=0.5247=Py3
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A1 Az A3 Aq As
2.6259 1.1050 0.6854 —0.9050 —1.1113

c Cn Ci2 Cis(ho) Cua(ly) Cis
—0.1282 —0.4745 0.5245 0.5243 0.4566

C, Ca Ca2 Cas Cas Css
—0.3366 —0.5243 0.3595 —0.4745 —0.5074

c, Car Csz Cas Css Css
—0.8605 0.0000 —0.4375 0.0000 0.2609

c, Ca Caz Cas Cua Cus
—0.3366 0.5243 0.3595 0.4745 —0.5074
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